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4 FRiBEE (String Game)
(15 33)
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4 String Game

(15 points)
Time Limit: 1 second

Memory Limit: 256 MB

Statement

DuckDuck No.1 and DuckDuck No.2 want to play a classic string game. The game is turn-based, and each
game starts with a string s. At the beginning of each player's turn, they must choose three positive integers
(4,7, k), where 1 < i < j < k < |s|, and these integers must satisfy 8; ="a", s; ="b", 8, ="b".

If a set of these three integers has already been chosen in a previous turn, it cannot be selected again. For
example, if (1,2, 4) was chosen in one turn, it cannot be chosen again, but (1,2, 5) could be.

The game ends when a player cannot select three integers that meet the criteria, and that player loses the
game.

Given that both DuckDuck No.1 and DuckDuck No.2 will play optimally, design a program that, given a string
8, outputs who would win the game if DuckDuck No.1 starts first.

Input Format

The first line contains a string s, which is as described above.

Output Format

Output "DuckDuck 1" if DuckDuck No.1 would win the game, otherwise output "DuckDuck 2" (without
quotes).

Constraints

e |s| <= 100.

e s only contains lowercase alphabets.

Test Cases

Input1
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Output 1

Duckbuck 2
Input 2
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lllustrations

In example 3, we can choose following (%, 7, k):
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There are 7 choices in total, hence DuckDuck No.1 will win the game.
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